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#1611909
Topic: Methods of preparation of haloalkanes

OH 1.PBr;
—_——
2. KOH(alc)
[8)

The product of the following reaction is :

w

Hint

1.PBry

E,
2. KOH(alc) ¥ T7.KOH(@l)

[0} [0}

#161191
Topic: Esters

0]

&* LiAlH,
OCHy —>

Which of the following is the major product of give reaction:

/\/\OH

I P
¢
o NN

OH
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#1611912
Topic: Nomenclature of organic compounds
NO,
Cl
CH;3

Write the IUPAC name of given compound

A 1-Choro 2- methyl 5 nitro compound

2-Chloro 1- methyl 4 nitro benzene

C 3-Chloro-4-methyl 1-nitro benzene

D 5-Chloro 4- methyl 1 nitro benzene

#1611915

Topic: Characteristics of arenes
Cl Me OCH; CN
A B C D

Arrange the following compound in the correct increasing rate of aromatic electrophilic substitution.

A $$A
$$D

C $$C

D $$C
#1611920

Topic: Disaccharides and polysaccharides

Which of the following statement is not true for sucrose?

A It is called invert sugar

B It is non -reducing sugar

It has glycisidic linkage between C, of g- glucose and C; of g fructose

D On the hydrolysis given p- Glucose and p-Fructose

Hint

Sucrose is not a reducing sugar , eg it will not reduce fehling's solution of Tolloen's regnet.Ilt does not form an oxime or an asazone ,and does not undergo mutarotatio.This
incidentes that hemiacetal group is not present in the ring Sucrose(Cane sugar Hzfa; a - glucose + B - fructose).In sucrose two monosaccharides are joined together by an
oxide linkage formed by an oxide linkage. In sucrose linkage is between C1 of a and C, of B - frutose. Since the reducing group of glucose and fructose are involved in

glycisidic bond formation,sucrose is non reducing sugar.

CH,0H HOH,C
"""" b o H
]
]
4 0=Qa =HO )5
....... . -D-— =D=—fructos
HO 3 -+ cnom C,0—D—glucose + C,f=D=fructose|
H OH (Iilycosidic OH H
o=D=Glucose linkage
p=D=Fructose
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#1611923
Topic: Study of d-Block elements

Match the following catalyst with their products-
Sr | Column1 Sr | Column 2
1 TiCly + AICl3 | a. | Ethanal
2. | V,05 b. | NH3
3. Fe C. Polyethylene

4. Pd d. H,S0,

A () = By (i) = A (i) = D; () = C

()= G (i) = Dy (i) = B, (i) - A

c ()= Dy (i) = As (i) = B () = C

D ()-A()-Bil- G- D

toppr

#1611925
Topic: Greenhouse effect and global warming

What is the effect of release of CO, gas on atmosphere?

Global warming

B Photochemical smog

C Ozone layer depletion

D Tsunami

#1611926
Topic: Methods of preparation of carboxylic acids

The correct product of the following reaction is

COOH

C—0—CH;

c COOH
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#1611929
Topic: Characteristics of alkynes
1.DCl(leq)
-

- — 2.DI

Write the product of the given reaction:

1 D

Cl D
B Cl D

D I
c D I

D Cl
b cl

o
=]

#1611932
Topic: Preparation of some addition polymers

1. KOH(alc.)
2 . Polymerisation -
Cl . .
(free radical mechanism)
Cl

Polymer is:
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| :
cl
Hint
1. KOH(alc.) X
2 . Polymerisation -
Cl . . Cl
(free radical mechanism)
Cl Cl
#1611937
Topic: Diazonium salts

NH;

dil HC1
Cold NaNO,

X is mixed with a mixture of phenol and aniline in acidic medium.The product obtained is:

+ JHY
NaNO, +HCI
2 > > N=N NH,
0°C
#1611939

Topic: Werner's Theory

In CuSO,4.5H,0 how many molecules of water are imdirectly connected to Cu

A

a1
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Hint

In Cu$O4A5H2 O, Four water molecules form coordinate bond with Cu, , ion while one water molecule is associated with H- bond

toppr

#1611944
Topic: Determination of rate law, rate constant and order of a reaction

In|r] ]

t t
[A= concentration of reactant and t be the time.

Identify the order is correct option for order:-

1and 0

B 2and 3
C 3and?2

D o0and 2

Hint

For zero order
Ca=Cay- kt
for first order
Ca=Cage Kt

Ca
or ,In— = -kt
CAO

orin C4- IN CAO: — kt

or,InCy=In CAo‘ kt

#1611948
Topic: Vapour Pressure of Liquid Solutions and Raoult's Law

The vapour pressure of pure mand N are 700mm of Hg and 450 mm of Hg respectively.which of the following option is correct?
Given : Xy, X, mole fraction of Nand Min liquid phase

Yy, Yy~ mole fraction of yand prin vapour phase.

A Xy-Xn> Yy-Yy
B Xw, Tw
XN YN
Xm  Ym
—_— < —
XN YN

D Xw_Tw
XN YN

Hint

Mole fraction of more voltatile component increase in vapour phase (P;’V < P/”w)

#1611953
Topic: Entropy and gibbs free energy

Download other JEE Main Answer Keys here: https://www.toppr.com/bytes/jee-main-answer-keys/

6/10



Subject: Chemistry | 9th April 2019 | Shift 1

Consider Zn+ Cy2+ » Zpn? + CuIf the standard emf is Ege” =2.0Vand F= 96500C

Find AGO(kJmol)

-388
B +388
C 194
D +194
Hint
AGO= - nFES = —2x 96500 x 2.0 x10~3 = - 388kJ/ mol
#1611957

Topic: Osmotic pressure

A solution of XY (100% ionised has osmotic pressure equal to four times the osmatic pressure of 0.01 MBaCl, (100% ionised ) .Find the molarity of xy

5] <o

B 3x10"2M
C 4x1072M

D 12 x10"2M

Hint

Ty = 4T gaci,

IXY] = 4 x ix[BaCla]

= 2 x[XY]=4x3x001
= [XY] = 0.06M

#1611961
Topic: Emission and Absorption spectra

What is the ratio of Av = v,;,,, = Vp,;, fOr spectral lines corresponding to lyman and Balmer series for hydrogen

B 4:9

C 5:7

D 7:5
Hint

iR

(AV)Lyman

(Av)Balmer - 1 11
(a3

I
J NGy [P N N
I
IR

#1611963
Topic: Some basic terms and concepts

Which of the following are path function
A w

B.@

C.o+w

D.H-TS
A Aand D

AandB
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C ABand D

D A,Cand D

Hint

W,Q are path function Q@+ W= AE, H- TS = G are state function.

#1611966
Topic: Behaviour of real gases - Deviations from ideal behaviour

Given a and b values for Xe, Kr, Arand He are
Xe | Kr Ar He

a(L2bar/mof?) | 41 | 2.3 13 0.03

b(L/ mol) 01 | 0.04 | 003 | 0.02

The gas with highest T_is:

A Xe
‘
C Ar
D He
Hint
a
Tox (Z)
#1611969
Topic: Some basic terms and concepts
Q 1I
a
P Qs
I
v

Consider the graph

Identify correct option:

AU,= A, Qp> Q,

B A,>AU,Q,=0Q,
(o] $$\Delta U_a=\Delta U_b,Q_a

D AU,=AU, Q,=Q,

Hint

AU- state function
AU, = Ab

Qo+ Wy=qp+ W,

da=Qqp=wWp=-Wz>0

#1611972
Topic: Molecular orbital theory

Out of Gy, F,, O,, NO which will be stabilized after forming anion?

&
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D NO
#1611978

Topic: Nitric acid and oxides of nitrogen

Arrange in the increasing order of oxidation state to nitrogen for following nitrogen oxides N, O, NO,, NO, N, O3

A $$N_20

D $$NO_2N_20_2

Hint

Nitrogen Ox.state of nitrogen

N>O +1
NO +2
N5,O3 +3
NO, +4
#1611984

Topic: Carbon

Ceo is aromatic allotrope of carbon containing

A 18 Pentagon ,14 hexagons
B 16 pentagons, 16 hexagons

12 Pentagons ,20 hexagons

D 20 pentagons ,12 hexagons

Hint

Cgo contains 12 Pentagons,20 hexagonas

#1611986
Topic: General Introduction

Which of the following ores contain fluorine>

A Malachite

B Sphalerite

Cryolite

D Bauxite

Hint

Malachite-CuCO3 Cu(OH),
Sphalerite -zns

Bauxite -Al,03.2H,0

Cryolite-NazAlFg

#1611990
Topic: Study of d-Block elements

Which of the following will have highest difference between /£, and /E,
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B Mg
C Sr
D Sc
Hint

Element IE; (kj/mol) | [E; (kj/mol) | Difference

K 419 3052 2633
713
Mg 737 1450
Sr 549 1064 515
Sc 633 1235 602
#1611992

Topic: Isomerism in coordination compounds

Which of the following will show optically acitivy

Hint

[M(AA)a,B,] shows optical activity in cis arrangement

#1611997
Topic: Study of d-Block elements

Which of the following orbitals are degenerate for [Cr{H,0)g]3*

A dxz,yz, dyy

C dxz,yz, dy,

D d 2, dxy

Hint

[CriH,0)g3* has ¢?sp3 hybridization .dxy, dyz, dzx.orbitals are degenerate.
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